	Početní operace
	Průměrná hodnota
	Stanovení  odchylky

	
[image: image1.wmf]b

a

c

+

=


	
[image: image2.wmf]b

a

c

+

=


	
[image: image3.wmf]b

a

c

D

+

D

=

D



	
[image: image4.wmf]b

a

c

-

=


	
[image: image5.wmf]b

a

c

-

=


	
[image: image6.wmf]b

a

c

D

+

D

=

D



	
	
	

	
[image: image7.wmf]b

a

c

×

=


	
[image: image8.wmf]b

a

c

×

=


	
[image: image9.wmf]b

a

c

d

d

d

+

=



	
[image: image10.wmf]b

a

c

/

=


	
[image: image11.wmf]b

a

c

/

=


	
[image: image12.wmf]b

a

c

d

d

d

+

=



	
[image: image13.wmf]2

a

c

=


	
[image: image14.wmf]2

)

(

a

c

=


	
[image: image15.wmf]a

c

d

d

×

=

2



	
[image: image16.wmf]a

c

=


	
[image: image17.wmf]a

c

=


	
[image: image18.wmf]2

/

a

c

d

d

=




_1285503894.unknown

_1285505533.unknown

_1285505721.unknown

_1285504009.unknown

_1285504075.unknown

_1285504091.unknown

_1285504052.unknown

_1285503907.unknown

_1285503466.unknown

_1285503661.unknown

_1285503746.unknown

_1285503859.unknown

_1285503696.unknown

_1285503617.unknown

_1285503555.unknown

_1285503431.unknown

_1285503456.unknown

_1285503376.unknown

